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C e 5-3 Review and Reinforcement

Periodic Trends

Use the periodic table and your knowledge of periodic trends to answer the following questions.

Which atom in each pair has the larger atomic radius?

K 1. LiorK

{ 7 _:_Lg: 2, CaorNi .
__C_s& 3. GaorB
B C 4. OQorC
_Bec 5 Clorsr
w&gm 6. BeorBa
S 7. SiorS

e, S$—Feordu ¥
Which ion in each pair has the smaller atomic radius?
+
K 9. KrorO*
T
B Qe 10. BaZorl-
:- ) . . A e epi x
o WY 12, KrorCs'
o™ 13, Fe?* or FeH
T 14 Fors*

- Which atom or ion in each pair has the larger ionization ehergy? ' _:
15. NaorO | e
16. BeorBa
17. ArorF
18. CuorRa
19. TorNe
20. KorV
21. CaorPFr
22. ‘WorSe
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Name Date Class

5-3 Review and Reinforcement (continued)

Write the charge that each of the following atoms will acquire when it has a complete set of valence
electrons. _ :

L~ 23. O

-+ 24. Na

- 25. F

b= . 26
L 2'7_.; Ca - .
< 28, Ar

29. Define atomic radius.

c}‘\‘;’ﬁcm‘_e_ 5 toan L,,’\“c_r o&‘? VALY X o..f“&__:‘wvaﬁ“_

{ \eL&r’Jv\ -

30. Why do atoms get smaller as you move across a period?

AT Q!\b‘\‘av-\ \{o\_)ﬁ ‘\“: S'\_V-‘:rmo_r QH‘A_@—(_‘*\VL

X ovcen Qu\\‘mn} o Necwnasd e NN Tons (1:3%&"

31. Explain the relationship between the relative size of an ion to its atom and the charge on the ion.
- iony ) Mz..,\\z.f‘ ’\‘\‘\5\4\-—- C\:\~\b Ve

— N DS \C\V‘ 0‘\) e ’\'\wa. L’\'_cvv-\

34, Explain why noble gases are inert and do not form ions.

*-v\,-e/vi Meert Commeple¥e o Norenody QN\U"‘-}U\ \m\s

35. Define the term electronegativity. What is the periodic trend for electronegativity?
> \’.\_-ﬁ:\-a"n C'\\E?V\-‘}L‘l‘ .(’\‘:Jn..... C‘)‘—* r‘-—(;‘\‘s 9,-\(«(- \‘ri’\"& - \'\JV\)

e
Mol T easeN  pe M

ol 6)0 u‘(‘J éwv)\ (\\-'r.?. L\j’

22 Chapter 5 ® Prentice-Hall, the.



Appendix 6:_Grade 12 Chemisiry Topic 2 Afomic Structure C12-2-07

Appendix 6: Electronegativies (BLM)

Use the table of electronegativities to determine the bond type {ionic, polar covaient, non-
polar covalent) that would be formed between each of the following elements. Provide the
electronegativity difference for each pair.

-

Bond Type Electronegativity Difference
1. Na, Ci N Wi 3o — o = 4.3

3o -V 5 =\ ¢

2. ALCE Polar coveledt
3. HS Neow o \er covalesy LS-1\ = o4
- s Kr N | Ao - ok = 3
B e € & e e e i R WPk oY WS U
6 Mg S Deler coval et 2.5~ v = %
 7. Li, Br p=\ac m-m\e,;r L¥ ~\o = \.¥
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